
7/5/23, 6:04 AM Article

https://volvo-trkna-prod1.pegacloud.net/prweb/PRAuth/app/VolvoKM_/iNPUIKpeinqPJi2G0hH930k43USdE1gb*/!PS1__TABTHREAD1?pyActivity=%4… 1/2



Vehicles Equipped With Chalmers Suspension -
Frame Bracket Hardware Loose or Interfering
  
If loose frame bracket hardware or torque rod bracket hardware is found
on a Chalmers Suspension truck:
 
 
For huck fasteners that are causing interference anywhere the
tail does not interfere:
 
Use an M20 bolt with a washer and a lock nut torqued to M20
medium torque (540 Nm ± 90 Nm; 400 ft-lbs ± 65 ft-lbs).
 
Harware
Part Number Description
992746 M20*80 Bolt
994884 21*36*5.8 Washer
990993 M20*20.3 Lock Nut
 
Suspension Parts
Part Number Description
22410754 Huckspin (Bolt, 20 88-36)
22410765 Collar (Collar, 20*229)

 

Tags

volvo mack chalmers suspension loose

interference

Categories

Make and Model > Mack > CXU/CHU/PI - Pinnacle

Make and Model > Mack > LR

Make and Model > Mack > TD - Titan

Make and Model > Volvo > VNL





; Live UI



7/5/23, 6:04 AM Article

https://volvo-trkna-prod1.pegacloud.net/prweb/PRAuth/app/VolvoKM_/iNPUIKpeinqPJi2G0hH930k43USdE1gb*/!PS1__TABTHREAD1?pyActivity=%4… 2/2

Make and Model > Volvo > VNR

Make and Model > Volvo > VNM

Make and Model > Volvo > VNX

Make and Model > Volvo > VAH

Make and Model > Volvo > VHD

Make and Model > Mack > LR Electric

Make and Model > Volvo > VNR Electric

Make and Model > Mack > MRU/TE - TerraPro

Vehicle System > Suspension and Steering

Vehicle System > Frame

Make and Model > Mack > AN - Anthem

Make and Model > Mack > GU/GR - Granite

Related links and attachments
No links or attachments available

Feedback

Give feedback

to help improve the content of this article

; Live UI


